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Earlier many authors obtain corresponding approximations of the ruin probability for classic (semi-
continuous) risk processes ξ(t) = u + Ct − S(t) (u > 0) with the linear premium rate function
C(t) = Ct and with the claim processes S(t) =

∑
k≤N1(t)

Yk (N1(t) = Pois(λ1), 0 < λ1 – the intensity

of claims Yk). Analogies of some approximations are established for the case, when the premium
process is stochastic: C(t) =

∑
k≤N2(t)

Xk(N2(t) = Pois(λ2), 0 < λ1 < λ2 – the intensity of premiums

Xk − exp(b), b > 0).
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�$& ���'���� ���� ! ξ(t) = u + Ct − S(t) (u > 0) � ��
��
�( )!
 '�*(
������ C(t) = Ct � ���'���� ����+ S(t) =

∑
k≤N1(t)

Yk (N1(t) = Pois(λ1), 0 < λ1 , �
��
���
���-

����+ Yk&� � ������ 
������-�� �
���+� ��� �$ 
������
- ��� ����� !.  ��� �������-
��
���'�� ����� ����/ C(t) =

∑
k≤N2(t)

Xk(N2(t) = Pois(λ2), 0 < λ1 < λ2 , �
��
���
���- ������

Xk − exp(b), b > 0).

��������� ��� �
�� �����!��" ���#�� ������ Ru(t) 
� ��$��%��!�" ���#��
!���� ζ(t) ����� ���� 
���⎧⎨⎩Ru(t) = u + Ct − S(t), C > 0, u > 0,

ζ(t) = S(t) − Ct, S(t) =
∑

k≤N(t)

Yk,
	��

$� N(t) & ����
�" �������'!�(��" ���#�� � λ > 0) *���#'� �����$'�� 	*���� !����
Yk+
F (x) = P{Yk < x}) x ≥ 0,∀k ≥ 1� ,�������-��) .� m = Eζ(1) < 0) 
�$'
���*'#'-�
 �
��/�!�� ��$0�!�� 	123456 14789'56 :;2<'=>�

δ = ρ =
C − λμ1

λμ1

> 0,m = λμ1 − C, μk = EY k
1 , k = 1, 3 	��
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Ψ(u) = P{Ru(t) < 0 $�� $������ t > 0}) �0�
Ψ(u) = P{ζ(t) > u $�� $������ t > 0} 	?�

@!�$��� ����� ���� $�� *���#'����'! ξ(t) = R0(t) 
� ζ(t)+

• ξ±(t) = sup
0≤t′≤t

(inf)ξ(t
′
))

• ξ± = sup
0≤t<∞

(inf)ξ(t))

• τ−
u = inf{t > 0 : ξ(t) < −u})
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• ζ±(t) = sup
0≤t

′≤t

(inf)ζ(t
′
)�

• ζ± = sup
0≤t<∞

(inf)ζ(t)�

• τ+(u) = inf{t > 0 : ζ(t) > u}�
τ−
u

.
= τ+(u) �������	
� �
���
 ���
 ������
�
���

��
������
� ������
�
�� Ψ(u) 
� ��
������
� ��������� φ(u) = 1 − Ψ(u)
�������	
��� 
��
� ����� ���� ���
�	
��� ���
������� ξ−� ζ+�

Ψ(u) = P{ξ− < −u} = P{ζ+ > u}, u > 0  !"
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��� ����� ����
ξ−(t)� ζ+(t)(

Ψ(t, u) = P{ξ−(t) < −u} = P{τ−
u < t} = P{ζ+(t) > u} = P{τ+(u) < t}.  )"

*�+
 ,
�����
� θs � ,
������
�
 �
�,
-����� ��,�-�
�� �������� � ,����
��
�
� s > 0� 

-� ,���
�
����� .�,�����/���
�� Ψ(t, u) ������'
��� 
��

s
∞∫
0

e−stΨ(t, u)dt = P{ζ+(θs) > u} = P{ξ−(θs) < −u)}�
0���
� ����� �����- Ψ(u)  �� � Ψ(t, u) �� 
�� ,�
�

  ���� +
 � ��,�-��� �
�

�� ���
�� Yk ,
������
�
 �
�,
-�����"� 1 �������
�� ��,�-�� ������' ,

����
� ����
-����� ,���
����� 
2��
� -�� Ψ(u)� �
����� ,�� u → ∞� 3-�
	 � ,���
4�� 
2��
� -�� Ψ(u) ���� 
-�
�

�
��� 
2����  
�� ����� ��������
� /�������
.��-�����  -��� #�&� #!&"

Ψ(u) ≤ e−Ru, u > 0, R 5 ,
������ /������5.��-�����  6"

R �������'
��� �� ����������� -
-�
��� �
���� �������� .��-�����

k(r) = 0, k(r) = lnEerζ(1) = −rC + λ(rF̃ (r) − 1), F̃ (r) =

∞∫
0

erxF (x)dx.  7"

8����4� ,�� ��-,
��-��� ��
��� �� ζ(t) 
-������ 
-�
�

�
��� ������������  6"

Ψ(u) ≤ ce−Ru, 0 < c < 1, u > 0,  9"
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c−e−Ru ≤ Ψ(u) ≤ c+e−Ru,  ;"

c∓ = inf
x≥0

(sup) F (x)
∞∫
0

eR(y−x)dF (x)
, 0 < c− < c+ < 1.

8
������ /������5.��-����� R 
��
� ������
 ����
�� 
������� ��������  7"
 ��� �
�� ��
� � 
����2��-��
���� -��� -��� ,�����- �" �� ����-� ,�--�'
���
�
��<�����	� =
�� ���
���

��	
��� ����� �,
�
�� 
��������� ��������� R�
�
���� c, c± � 
�������

mk = Eζ(1)k, (k ≤ 3)� ��
 μk = Eyk
1 � 
� ρ = δ = |Eζ(1)|

λμ1
> 0�

����� ������ ��� ! " ��#$�% &'(&% ��)� &� % * (
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 ��
 Ψ(u) �����

��
 � ����
�� �� � ���� ���� ������	��

��� u → ∞ � ����
�� � � ��� � ��������� ��
 ���������� �������

� C(t) = Ct, C > 0 ζ(t) = S(t) − Ct ! ��������� ���"	� ��#��� $���%$&  %
'� ��#��
�	�� ������� ���������( ��	���
� C(t) �= Ct,

ζ(t) = S(t) − C(t), S(t) =
∑

k≤N1(t)

Yk, C(t) =
∑

k≤N2(t)

Xk, $&) 

K(r) = λ1rF̃ (r) − λ2r(r + b)−1.

�	 N1,2(t)−Pois(λ1,2) ! �	#��	��� ������������� ���"	�� # ��
	�������

�� λ1,2 >
0, (λ = λ1 + λ2) ��	��* Xk > 0+ ����#������ ��#�����	�� # �����	
��� b > 0,
(Xk = exp(b)). ,��������� -� ��	.�"�/�
 �
��(���* �������� ��
 ������� � 
�����#�
/
��
 ��� $0 � ��/ ����
�

ρ =
|m|

ES(1)
=

λ2 − λ1bμ1

λ1bμ1

=
q − pbμ1

pbμ1

> 0, p =
λ1

λ
, q =

λ2

λ
, λ = λ1 + λ2. $&& 

,������
 ���
��/ � 
���� -�� ��	���
� ������� �	
��( ������	�� ������+
���
� ������
�
��� �����	 ��	�����( � �&!1� ��
 ������� � � � ��
 ���"	��� $&) 
# ����������� ��	��
�� $������� �  %

2���	� # ������	�� Ψ0(u) ��� C = 1 � Ψ1(u) = ΨR(u) ��� ∀C > 0 ! ��+
����	��
 3	��* $���% 
����"4 � � 5���
��( ��� % 5�
 "���� #������� ���"	�
ζ(t) � $&) 6������	���6 ���"	��� �# #����� $0)%0 � �7� ��� �8� #� ��������4
C(t) =

∑
k≤N2(t)

Xk, Xk = exp(b) ! ����#������ ��#�����	�� # b > 0,EC(1) = λ2b
−1

$�� ��
� S(t) #����
/
��
 �� S0(t)),

ζ0(t) = S0(t) − C(t), S0(t) =
∑

k≤N0(t)

Y 0
k , N0(t) = Pois(λ0), Y

0
k = exp(a), a > 0. $&0 

2�������/��� -� ES0(1)k = ES(1)k (k = 1, 2), m = Eζ(1) = λ1μ1 − λ2b
−1 < 0.

9��� ��4
� ���"	 ����������	��
{
λ1μ1 = λ0a

−1

λ1μ2 = 2λ0a
−2

⇒
{

λ0 = aλ1μ1

λ1μ2 = 2λ1μ1a
−2

⇒
{

a = 2μ1

μ2
,

λ0 =
2λ1μ2

1

μ2
,

λ0+λ2 =
2λ1μ

2
1 + λ2μ2

μ2

,

-� ��
�����44
� #�:
#�� ��� �����	
���� ζ(t) 
� ζ0(t).
3���
��
 ;����	��� ��
 ζ0(t) ��� Eζ0(1) < 0 #����
��
 �� ��������� � ��#��+

��/ ������ r = ρ0
+ > 0 :

λ0

a − r
=

λ2

b + r
⇒ ρ0

+ =
ab|m|

λ0 + λ2

=
2μ1|m|b

μ2(λ0 + λ2)
=

2μ1|m|b
2λ1μ2

1 + λ2μ2

, $&1 

p0
+ =

ρ0
+

a
=

b|m|
λ0 + λ2

, q0
+ = 1 − b|m|

λ0 + λ2

=
b + bλ1μ1

λ0 + λ2

=
λ1μ1(2μ1 + μ2b)

2λ1μ2
1 + λ2μ2

.

<
�	 #����� # $1%&)� � ��� ρ0
+ ��#����/ ��#����� ζ+

0 = sup
0≤t<∞

ζ0(t) � ��/ ���"	

��
�� ������ ������� 
���
� ����� ���� �� �  �
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���������	 
� ���� �� ���	
��
���� ζ(t) � ���� ��	���� ����
� ζ0(t) �
����� �� ������ r = ρ0

+ �������� ����	
� � �
� ζ0(t) �����!�" �������
 ζ+
0 ��

���
 � ���������
 ��	
��
��� Ψ0(u)�

Ψ(u) ∼ Ψ0(u) = P{ζ+
0 > u} = q0

+e−ρ0
+u, ρ0

+ = ap0
+, u > 0. ����

#��!
��� q0
+ �� ρ0

+ � ���� � ��$� ������%���� � �
�&���' &�&
���� ζ(t) �(
 � ) �(� � ��������* +��
� ��&��� � ��,� q0

+ �� q+ = Ψ(0) ����* ��	
* -- � ./0�
��
���"���� ��	
��
���

Ψ(u) ∼ Ψ0
R(u) = q+e

− 2μ1|m|bu

2λ1μ2
1+λ2μ2 , u → ∞, q+ = p(1 + bμ1) =

1 + pρ

1 + ρ
. ����

��	
� �

�	��
 �����	
��� ���� 
�� ζ(t) � �������� �����	
��� Ψ0(u) ��
C = 1�� � ���� � �������� �����	
��� ΨR(u) (∀C > 0) � ������� � ����
 �� �

�	��� ������ �����	
��� !
 "��#

�� �
�$� Ψ3(u) $ ������� �

���� �� %�����	
���% 
� ζ(t) $ ��&� $��
�
� '���
( ζ0(t) = S0(t) − C0t(C0 >
0, S0(t).(12)) ��)� *�� Eζ0(1)k = Eζ(1)k (k = 1, 3,m = Eζ(1) < 0). +�
� '�,�-

�� )������� k(r) = Eerζ(1) � k0(r) = Eerζ0(1) ��
�$��#��.�# ���$�/ k(i)(0) =

k
(i)
0 (0)(i = 1, 3), � �)�0 $�'��$�� (�(�
�� ��$���# 
�� $����1
��� �
$�
���, '�-
���
���$ (λ0, C0, a)⎧⎪⎨⎪⎩

λ0
1a

−1 − C0 = m (m = k′(0) = λ1μ1 − λ2b
−1)

2λ0
1a

−2 = k2 (k2 = λ1μ2 + 2λ2b
−2)

6λ0
1a

−3 = λ1μ3 − 6λ2b
−3 = k3.

!�� ���$2������ (�(�
�� $����1��� � �-�� ��$����� C0 = |m|+λ0
1a

−1 � '����1���
x = λ0

1a
−2. 3 
$�, �(�����, ��$���# $����1�.�#(� �
$�
��� x �� a : x = 1

2
k2,

a = 6x(λ1μ3 − 6λ2b
−3)−1. 3$�
(� $����1�.�#(� $(� �
$�
��� '����
���

a =
3k2

2(λ1μ3 − 6λ2b−3)
, λ0

1 =
k3

2

2(λ1μ3 − 6λ2b−3)
, C0 = |m| + 3k2

2

2(λ1μ3 − 6λ2b−3)
. ��4�

5
���6 
�
����6 )����# ��$����� 7��
�
��� (k0(r) = 0), *� �$�
��#(� 
� ��-
��6����/ C0(r− a) + λ0

1 = 0 ⇒ ρ0
+ = a−λ0

1C
−1
0 $����1�� ���'�
�� ζ+

0 �
�$� �8��&��
$ ����� � ��	
 � $�
'�$�
�
 �����	
��� 
�� Ψ(u). +�)�� 1���� ('��$

��$�

���������	 �� 1 ������� 	� �
� ����
�� ζ(t) � ���� �&��������� 	������(
���� Ψ(u) �����!�"���� ���
� �& ��	
��
��� 2
 3�
��
��

Ψ(u) ∼ Ψ2(u) = Ψ0
DV (u) = P{ζ+

0 > u} = q0
+e−ρ0

+u, u > 0 ��9�

ρ0
+ = a − λ0

1C
−1
0 , q0

+ = λ0
1(aC0)

−1 (���* ��	
* -- � ./0 , � ������� �� q+ =
λμ

C
),

�
 ���!
��� ����&
���� a, λ0, C0 � ���� � ��4� �����!�"���� !
�
� �
�5� ���
&�&
��� ����
�� ζ(t) (μk = EY k

1 ,EXk
1 = k!b−k, k = 1, 3). 6���
�� ���!
���

q0
+, ρ0

+ ���* ��
� � ��	
* 7 � ./0 �*	�*

����� ������ �� !"!# ��$%�& '()'& ��*� '� & + )
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��� ��������� 	�	�
�	 �	���
���� �����	�	��
����	 Ψ3(u) = ΨBB(u) �����
�	��� � � ���� �
�������
 ��� m = Eζ(1) < 0 ��
��� ��
������� �	��������	

H(u) = P{ζ+ > u|ζ+ > 0} =
Ψ(u)

q+

(0 < q+ = Ψ(0)). �!"�

#���� �� H(0) = 1, H(∞) = 0, �
 H(u) �

�	 �	������ $�
��
� �	��	%�
��
����
G(x) = Gα,β(x), ���&� ��	 �
����� ��
�


μ∗ =

∫
x≥0

xdG(x) =
α

β
, σ2

∗ =

∫
x≥0

(x − μ∗)2dG(x) =
α

β2

����	'� �� � ����
������� �
����	�� ζ+. ��� 
�(������� )�$ �
������ ���
%
����	*�
 +
����� ,
��(��	�-��(��	 ��� ���	��� �� ����� �	�� ! �� � �	���)�
.� � ����

ϕ+(z) = Ee−zζ+

=
p+

1 − q+ϕ̃0(z)
, p+ = P{ζ+ = 0} = 1 − q+; �!/�

ϕ̃0(z) =
1

q+

∞∫
0

e−xzdF∗(x), F ∗(0) =

∞∫
0

dF∗(x) = q+, ϕ̃0(0) = 1,

dF∗(x) = dF (x) + bF (x)dx, F (x) = pP{Y1 > x}, x > 0.

0 �!/� ������	*1 2
 &��	�� �
����� ζ+ ���	
	'� �� (����

|ϕ̃′
0(0)| =

p

q+

(μ1 +
bμ2

2
), ϕ̃′′

0(0) =
p

q+

(μ2 +
bμ3

3
), p =

λ1

λ1 + λ2

,

	 �	��
m+ := Eζ+ =

q+

p+

|ϕ̃′
0(0)|, m2

+ = (
q+

p+

ϕ̃′
0(0))2,

E(ζ+)2 = 2
q2
+

p3
+

ϕ̃′
0(0)2 +

q+

p+

ϕ̃′′
0(0) =

2m2
+

p+q+

+
q+

p+

ϕ̃′′
0(0), �34�

Dζ+ = m2
+

2 − p+q+

p+q+

+
p

p+

(μ2 +
bμ3

3
), q+ = p(1 + bμ1).

0 ��
�� ����
��� �
������ ζ+ �	 +��� G(x) :

α

β
= m+,

α

β2
= Dζ+ ⇒ β =

m+

Dζ+
, α = m+β =

m2
+

Dζ+
. �3!�

0����
 � �34� m+, Dζ+ ���	
	'� �� (���� ���&� ��� �
����� ���
�5 EY k
1 = μk

� �����6 EXk
1 = k!b−k (k = 1, 3).

0	��
���� α � β ��� ���	$
�
7 �	��	��� �!!�

ρ =
q − pbμ1

pbμ1

=
p+

q − p+

=
p+

q+ − p

� ���	��� �� ���	���&	 ��
 � ���	��� 	��

��
�� ������ ������� 
���
� ����� ���� �� �  �



��� �����	
��� �
��������
� ����������� � � � ��

����� � ����	
�� α 	 β 
 ������
�� ����� ����	 ����
�� ����� 	 ����	� ���
�	���

���������	 
� ��� �����	
 ζ(t) � �
�� ��� mk = Eζ(1)k < ∞, (k =
1, 3), m1 < 0 ��� ��	�� ������ ���������� ��������������	�

Ψ(u) ∼ Ψ3(u) = Ψ0
BB(u) = p(1 + bμ1)

∫ ∞

βu

Γ(α)−1yα−1e−ydy, ����

��������� ����� α, β ��������� 	� � �!
�"
���� F (x), ������ ���� �� �! "���	#!
�
� ���$�

� ���	�
�
� � �����
�%

����� ��� x → ∞ 
����� �! �����$	#��� � ������� ��������� &������� ����
���$�

� �� �! ������ �����$	#	�'

(��)"#�
*
�$�
��' F (x) = exp{−xβ} (0 < β < 1), x > 0;
�����$	# +�����' F (x) = (1 + x)−α (α > 0), x > 0;
#��
����#!
�� �����$	#' F (x) = Φ( log x−m

σ
)(σ2,m > 0), x > 0.

����

� 
�)#���

� Ψ9(u) $#� ,������ �����	�,���
� �$������ �� $���%
���� ������ $��� -���"# �.�
��� � /�$���" 01 � 234 " �)�� ����$��� ��� )��
&�	$
� � ���
���

��� � 2.4� 254 �� ����������
��� ��	��	$
���

��� � 2.�6�07�
8��394

F (x) = μ1F I(x), F I(x)∗n ≈ nF I(x), n ≥ 2. ��5�

:#�� �����$	#	� � ������� �������� 
����� �! �	$�����
������ �;<=>?6@A>AB	%
CD�	 ���
��� �! ����� S.

�����
�� �� #�$� %�� �����	
 ζ(t) � �
� &"�" F (x) = P{Yk < x} ∈ S, ��%�
��� m < 0

Ψ(u) ∼ Ψ9(u) = ρ−1F I(u) =
1

ρμ1

F (u), u → ∞; ρ =
C − λμ1

μ2

; ��9�

�� #�$� %�� ζ(t) � �
�� �����' Xk = exp(b) (b > 0), F (x) ∈ S, ��%� ��� m < 0

Ψ(u) ∼ Ψ0
9(u) =

1

p+

F ∗(u) =
λ

b|m|F ∗(u), u → ∞, p+ =
qρ

1 + ρ
, ��3�

F ∗(x) = F (x) + bF (x), x > 0, F (x) =

∫ ∞

x

F (y)dy.

����%����� �)�������! $���$�

�� $#� ����$�" )�� ���	#!�� $#� ����$�"
�� ���� ���
� �
���� � 2.4% 2�4� &�"������� E� F ∗(x) �	�#� ,
���"��

�, ����
,�������, -���

ΦI(x) = q−1
+ F ∗(x), F ∗(0) = q+ = Ψ(0). ��F�

&�	$
� � ��)� � ��)#��	 01� E� 
���$��!�� $�#	� ��� �	��� �)��
�

� -���"#�
+�#�����
G	
��
� $#� ����$�" )�'

Ψ(u) = p+

∑
n>0

F ∗(u)∗n, u > 0, q+ =
1 + pρ

1 + ρ
= p(1+bμ1), p =

λ1

λ
, λ = λ1+λ2. ��H�

+	�#� �	$���
���� ��5� " ��H� �$������

Ψ(u) = p+

∑
n≥1

qn
+ΦI(u)∗n. ��I�

����� ������ �� !"!# ��$%�& '()'& ��*� '� & + )



�� �� �� ���	


��������	
� �� Φ
∗n
I (u) ≈ nΦI(u) 
 �������∑

n≥1

nxn = x
∑
n≥1

nxn−1 = x(
∑
n≥0

xn)′ =
x

(1 − x)2
����


� ���� �����
�� ��
��
��������

Ψ(u) ≈ p+ΦI(u)
∑
n>0

nqn
+ =

q+

p+

ΦI(u) =
1

p+

F ∗(u), u → ∞. �� �

!"
��� � ����
�#�� � $% � &'( �)� &*( p+ = b|m|λ−1, +��
 � �� � �
��
��, ��-�$
!�����
��� �� � +�)�
.
 / ��)�
����� Ψ8(u) � &-( ��������
�� ��� �)��

�
���#
� �� 
 )� � �
����
��
�
 ���	�����
 q+ = Ψ(0) : 0� q+ = λ1μ
C

; )� q+ =
p(1 + μ1b).

1+��� +�)�
.
 2/3/ � &-( �
��� ���������� ���
�
 �����4+�+��
� �������
3
�
 ��� �
���#� )�� ���+4 +�#
5 �
"���$

2/$ ������� ���	
�� 
�� Ψ(u) = 1 − φ(u) = φ(u) = P{τ+(u) < ∞}
6$ 7��"��4����� ������
 8���	�#�39
�	
��

Ee−zζ+

=
p+

1 − q+ϕ̃0(z)
; ϕ̃0(z) := E[e−zγ+(0) | ζ+ > 0],

0� ϕ̃0(z) = μ−1
∞∫
0

e−zxF (x)dx; F (x) =
∞∫
x

dF (x);

)� ϕ̃0(z) = q−1
+

∞∫
0

e−zxdF∗(x), F∗(x) = F (x) + bF (x), x ≥ 0.

�$ 1)������� ������
 8����	��#�39
�	
�� ��
� �-$6'� +� �'$' � � &-(�
0���� ���
�����������"� ��
�� ���.��� �
��" ζ(t) �q+ = λμC−1�

Ψ(u) = p+

∑
n>0

qn
+μ−nF (u)∗n, F (u) =

∞∫
u

F (x)dx, u > 0;

)� ��� ��5�� ���
�����������"� ��
�� ���.��� �
�
#� ζ(t) (p+ = b|m|λ−1)

Ψ(u) = p+

∑
n>0

F∗(u)∗n, F∗(u) = F (u) + bF (u), u > 0,EXk = b−1.

�$ :������� �� �
��
��, � ���+
�"��4���+
 X(t) = Ee−R+ζ(t) �k(R+) = 0�$

Ψ(u) = e−R+ug+(u,R+), g+(u, z) = E[e−zγ+(u), ζ+ > u];

0� ��� ���
�����������"� ��
�� ����
�#���"� ���.��� �
��" ζ(t)

g+(u, z) =
λ

C

∞∫
0

e−zxF (u + x)dx +
λ

| m |

u∫
+0

∞∫
0

e−zxF (u − y + x)dxdφ(y);

)� ��� ��5�� ���
�����������"� ��
�� ���.��� �
�
#� ζ(t)

g+(u, z) =

∞∫
0

e−zxF
′
∗(u + x)dx +

λ

b | m |

u∫
+0

∞∫
0

e−yzF
′
∗(u − y + x)dxdφ(y);

��
�� ������ ������� 
���
� ����� ���� �� �  �



��� �����	
��� �
��������
� ����������� � � � ��

F
′
∗(x) = F

′
(x) + bF (x), F (x) = pF1(x), F1(x) = P{Y1 < x}, x > 0, p =

λ1

λ
�

�� ������	 
�� Ψ(u) � 
�����	� �����
��� ���� ����
�� F (x) �

��Ψ(u) = λ
C
F (u) + λ

|m|
u∫
0

F (u − z)φ
′
(z)dz, Ψ(0) = q+ = λμ1

C
;

�� Ψ(u) = F∗(u) + λ
|m|

u∫
0

F∗(u − y)φ′(y)dy,

Ψ(0) = q+ = p(1 + bμ
′
k), μ

′
k = E(Y1)

k, k = 1, 2.
�� �����
�
� �	 !�����	 "
��� #�	 ���� Ψ(0) � "$��% "$&��

Ψ(u) = e−R+u(Ψ(0) + o(1)) (u → ∞)

�� Ψ(0) = λμ1

c
; �� Ψ(0) = F∗(0) = p(1 + bμ

′
1).

'� ����� ���	
����� Ψk(u) ∼ Ψ(u) � u → ∞
 � ��������

μn =
∞∫
0

xndF (x)% n = 1, 3% m = Eζ(1)% "�� ρ = C−λμ1

λμ1
= p+

q+
> 0;

�� ρ = q−pbμ1

pbμ1
= p+

q+−p
> 0��

$� (	���)���� *��+, Ψ1(u) = ΨR(u)

	� ΨR(u) = 1
1+ρ

e
− 2ρμ1u

μ2(1+ρ) = q+e
− 2μ1|m|

μ2C
u
% q+ = Ψ(0) = λμ1

C
�

�� Ψ0
R(u) = q+e

− 2μ1|m|bu

2λ1μ2
1+λ2μ2 , q+ = Ψ0

R(0) = p(1 + bμ1), p = λ1

λ
, λ = λ1 + λ2.

�� (	���)���� -�	���	./��
����	 �� Ψ2(u) = ΨCL(u) "R+ > 0�

	� ΨCL(u) = |m|
k′(R+)

e−R+u, R+ � �����+ �������� k(R+) = 0 "0"1� 
��� "2���

�� Ψ0
CL(u) = |m|

2qk′(R+)
e−R+u, "0"1� 
��� "$3�% q = λ2

λ
��

4� (	���)���� 5� 6��+
��	 Ψ3(u) = ΨDV (u)

�� ΨDV (u) =
3μ2

2

3μ2
2+2μ1μ3ρ

exp{− 6μ1μ2ρu
3μ2

2+2μ1μ3ρ
}; ΨDV (0) < 1;

�� Ψ0
DV (u) = q0

+e−ρ0
+u; q0

+ =
2k2

2k3

3(2|m|k3+3k2
2)

, k2 = λ1μ2 + 2λ2b
−1,

ρ0
+ = 3k2

2k3

2k3(3|m|−k2
2)+9k2

3(2k3|m|+3k2
2)

, k3 = λ1μ3 − 6λ2b
−3.

�� (	���)���� 7����	�	�7�����	 Ψ4(u) = ΨBB(u)

�� ΨBB(u) = 1
1+ρ

∞∫
βu

xα−1

Γ(α)
e−xdx% α = 1+ρ

1+(c−1)ρ
β = 2μ1ρ

μ2+(c−μ2)ρ
% c = 4μ1μ3

3μ2
2

;

�� Ψ0
BB(u) = q+

∞∫
Bu

Γ(α)−1xα−1e−xdx, q+ = p(1 + bμ1),

α = E(ζ+)2(Dζ+), β = Eζ+(Dζ+)−1; (E(ζ+)1,2, Dζ+ 
���"�3�."�$���
�� 8�������9�:�� �	���)���� Ψ5(u) = ΨE(u)

ΨE(u) = exp{−1 − 2ρμ1u − μ2√
μ2

2 + 4
3
ρμ1μ3

}, ΨE(0) = exp{(1 +
4ρμ1

3μ2μ3

)−1/2 − 1}.

�� ������	
� 
�
����

� Ψ6(u) = ΨD(u)

ΨD(u) = e
− 2ρμ1u

μ2 � ΨD(0) = 1 
� ��� 
����� ��� Ψ(0) = q+��
�� ��
����

� ��� ��
�
���� ���
� �� ��
�
����� Ψ7(u) = ΨOL(u)

ΨOL(u) = ΨD(u)[1 + (ρu − μ2

μ1
)

4ρμ2
1μ3

3μ3
2

] ΨOL(0) = 1 − 4ρμ1μ3

3μ2
2

< 1�

����� ���	
� ��
���� �	���� ����� �
�� �� � � �



�� �� �� ���	


�� ������	

� �
���
	 �
 ΨCL(u)
Ψ8(u) = Ψ∗(u) = Ψ(0)e−R+u�
�� Ψ(0) = λμ1

C
�

�� Ψ(0) = F∗(0) = p(1+bμ1) �R+ � �
��
� ���
�

� ��
��	��� L0� k(R+) = 0�
�� ������	

� ��� ������� �������� ��
 !�� F (x)� Ψ9(u) = Ψ∗∗(u)�

�� Ψ∗∗(u) = (ρμ1)
−1F (u) = 1

ρ
F (u)� (ρμ1)

−1 = λ | m |−1,

�� Ψ0
∗∗(u) = 1

p+
F ∗(u) = λ

b|m|F ∗(u), F ∗(u) = F (u) + bF (u), p+ = qρ
1+ρ

�ρ ���� �

�""�

������� �	 ����� ζ(t) = S(t) − t � > 0� t ≥ 0� 	 
���
��
� ������ �
	
�

�� ���
�

 ��
���
� �
��� Yk � S(t) =

∑
k≤N(t)

Yk ����� �������� ��������

 !���!���

∂

∂x
P{Yk < x} =

2√
2π

e−
x2

2 ; Φ0
I(x) =

2√
2π

x∫
0

e−
z2

2 dz, x > 0.

N(t) 	�������!���

� ������ � !�����
��!��� λ > 0� �"#" ���
�
!� Yk

ϕ0(α) = EeiαYk =
2√
2π

∞∫
0

eiαx−x2

2 dx.

$
 �"#" ζ(θs) ��
 ! 
�������� ψ(α) = lnEeiαζ(θs) � �������������
�
 #��	

�!��
% ψ(α) = λ(ϕ0(α) − 1) − iαC� ϕ(s, α) = Eeiαζ(θs) = s

s−ψ(α)
" &!���� �!���

�!�������

 iα = r� ������
��%

ϕ0(−ir) =
2λ√
2π

∞∫
0

e
2rz−z2

2 dz =
2λ√
2π

∞∫
0

e
r2−(z−r)2

2 dz = λe
r2

2 (Φ0
I(r) + 1),

k(r) = λe
r2

2 (Φ0
I(r) + 1) − λ − Cr. �#"�

'��#!�!��� ��������( ������

 �)� �
��*������ ����� m = Eζ(1) < 0� μ =
EY1 = 2√

2π
� λ,C"

m = k′(0) =
2λ√
2π

− C, δ = ρ =
|m|
λμ

=
C − λμ

λμ
> 0. �#$�

+�
 C = λ = 1 δ = ρ = 1−μ
μ

> 0 ! �

������ ����
 �,)� ���������� �����

Ψ(u) < 1" -�� �����
 ����
*���� ����!�����! ���
������� ��!� ����.����

�!������ /�������� �0�� �
� � ������ ��

���! ����
���� �� ����������������
�!������

e
r2

2 (Φ0
I(r) + 1) = 1 + r. �##�

&�����
� ����.���
 �,,� �
������ ��
���

 /�������� R+ = ρ+ > 0" ����
	
*���� ��� R+ = ρ+ ≈ 0, 4 ������
���� ���#!��
� ��������" 1�!��� � �)2",3�
� 456 ��
 = λ = 1� p+ = |m|� q+ = μ = 2√

2π
" 7�*�

Ψ(u) ≈ 2√
2π

e−0,4u, u → ∞. �#%�

��
�� ������ ������� 
���
� ����� ���� �� �  �



��� �����	
��� �
��������
� ����������� � � � ��

�� �������	
 ����
������� ����� �������� λ = 1� ���� ������ � �������

�  !" δ = ρ = C−μ
μ

= p+

q+
= |m|

μ
� # �����$ %	����& �'
% � p+ = q+ = 1

2
� =

2μ = 4√
2π

� '���(��( �)� ����
���( �� �'���*���������� '���(��( �� ���+�����
�

��,

���
� '���-(�.���

e
r2

2 (Φ0
I(r) + 1) = 1 +

4r√
2π

⇒ r = ρ+ ≈ 0, 89. ��/�

0���� � �����$ %	����& �'
% 1 q+ = Ψ(0) = 1
2
� R+ = ρ+ ≈ 0, 89�

Ψ(u) ≈ 1

2
e−0,89u, u → ∞. ��!�

2� ��+������ �,�'���� 3�'��

 4�

(	�.�56��	
�� ��
��+� ����� ,� � ��,
�78�
�������
�����( �����+�� ���
��.
�

�������� 	� ����� ζ(t) = S(t)−Ct(C > 0, t ≥ 0) � ���	
��
� 
����	 �
�
��
� 
�����
���� ���
������
�
 �
�����


F (x) = P{Yk < x} = 1 − e−ax, x ≥ 0, a > 0, μ = a−1. ��)�

���� ��� �����
	� �� ����������� �������� ��������� � !! �� ��������� "����#
��� $��������%���
�� ��
�& 
& '�! � (���&)* !

Ψ(u) = p+

∑
qn
+μ−nF (u)∗n ��9�

�	(������+(�	� 	
�������,����

Ψ(u) = q+e−ap+u, q+ = λμC−1, p+ =
|m|
C

=
aC − λ

aC
. ��:�

-��������� ;�'��
� 4�
(	�.�56��	
�� �
���	�� ����'��'
�� ζ+ 	�'�� ������
����'��'
�� γ+(0) 5 +�'���� +�'���'
,.� 	�'�� ��

Ee−zζ+

=
p+

1 − q+ϕ̃0(z)
, ϕ̃0(z) = E[e−zγ+(0)|ζ+ > 0], ����

� �
+��.� ��

ϕ0(z) = μ−1

∞∫
0

e−zxF (x)dx, F (x) =

∞∫
x

F (y)dy, F (x) = μ1F I(x).

4'
 ����� ��)�

F (x) = e−ax, F (x) = a−1e−ax, (μ1 = a−1) ��<�

F (x)∗n = (μF (x))∗ = μnF (x)∗n = μne−ax

n−1∑
r=0

(ax)r

r!

4��
( +��������.
 ��<� � ��9� ���'������( �+�����������(

Ψ(u) = p+

∞∑
n=1

qn
+F (u)∗n = p+e−au

∞∑
n=1

qn
+

n−1∑
r=0

(au)r

r!
=

����� ������ �� !"!# ��$%�& '(�'& ��)� '* & + �



�� �� �� ���	


= q+e−au

∞∑
r=0

(aq+u)r

r!
= q+e−au+aq+u,

� ����� ���	��
� �
��� ����	��� ζ(t) �� ��	��� ����������� ������ 
 � �
���
�
�������������� ������� �� ������ � �
� !"� � #"$ ap+ = ρ+ � �
�� ������������
� �%!� &� � #'$� ���
���	���� � ��������
���� �������� �(��

�������� 	� ����� ζ(t) = S(t) − C(t) ���	
���

 ����� ����	�������	���
�� �	���� � �����
 ������ ������ � ���������	� ������������� 	������� Yk −
exp(a) � �������� Xk − exp(b) � 	����	����� ����������

k(r) = ψ(−iα) =
λ1r

a − r
+

λ2r

b + r
, λ1, λ2 > 0, p =

λ1

λ1 + λ2

,

m = k′(0) = λ1a
−1 − λ2b

−1 < 0 (μ = a−1).

���� �� ������	�  ������ �!������� �"#
 	�����	����$�� ���		����%����

Ψ(u) = q+e−ap+u, u > 0, q+ = p(1 + bμ). �&%�

&�	������� ) ��	� �����
��� ����� �
(� �	� F1(x) = P{Yk < x} ��
�������
*�

F ∗(x) = p(F 1(x) + bF (x)) = q+e−ax, q+ = p(1 + ba−1),

F ∗(x)∗n = qn + F1(x)∗n = qn
+e−ax

n−1∑
r=0

(ax)r

r!
. �&
�

+����
�	�,-� �&
� � �%(� ��
������

Ψ(u) = p+e−ax
∑
n≥1

qn
+

n−1∑
r=0

(au)r

r!
= p+e−au

∑
∗
; �&&�

∑
∗

=
∑
r≥0

(au)r

r!

∑
n≥r+1

qn
+ =

q+

1 − q+

∑
r≥0

(auq+)r

r!
=

q+

p+

e−aq+u.

+��	� �����
�����
∑

∗ � �&&� �������� �&%�� .� � � ������������ ����	
��
a− aq+ = ap+ = ρ+, 
 �&%� ������������ � /����	�, �
� !"� � #"$� �����
��, �
��������
���� �������� �(��

0	� �	,���
1�2 �
3	����� � &� � � "� ����	����� ���1�� �� �
�
- � #'$� #($�


������ 	
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ζ(t) = S(t) − C(t), S(t) =
∑

k≤N1(t)

Yk, EeiαYk =
1

(1 − iα)2
, �&"�

C(t) =
∑

k≤N2(t)

Xk, Xk = exp(b), �������	����� N1,2(t) λ1 = λ2 = 1.

/�! ������ Ψ0
R(u)- �� ��!������� ��� S(t) 	�!���� S0(t) 	 ��"


S0(t) =
∑

k≤N0(t)

Y 0
k , Y 0

k = exp(a), k0(r) = lnEerζ0(1) = r(
λ0

a − r
− 1

b + r
).
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�� ��������	
��� 
����
��� ��� b = 1
14

����	 ������ �������� �����������

a = λ0 = 1, ρ0
+ = p0

+ =
3

7
, q0

+ = q+ = Ψ(0) =
4

7
.
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�#� � 
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Ψ(u) ∼ Ψ0(u) = Ψ0
R(u) =

4

7
e−

3
7
u, u → ∞. ����

�	��� ��������	
���� Ψ(u), 	���"��� ��� �	��&������ ������ �'(�' � )*+, 
 
�-(�'�
� )-+� ��. ������

Ψ(u) =
27

41
e−

1
4
u − 25

287
e−

12
7

u →
u→0

Ψ(0) =
4

7
. ����

/�� �	�������� ρ0
+ � �	������� �	������ r1,2 > 0 �������� 0 ��!���� ���

ζ(t) (k(r) = lnEerζ(1) = 0) ������.����, 1	

r1 = R =
1

4
< ρ0

+ =
3

7
< r2 =

25

7
(0, 25 < ρ0

+ ≈ 0, 4 < 1, 7),

�	!�	, 1	 �	���� �������� (k0(r) = 0) ρ0
+ �����	 !��"�� �	 �	������� 2�������

0 ��!���� R = 0, 25 � ���
	�	 �	���� �������� k(r) = 0. 3������� q+ = q0
+ =

4
7
≈ 0, 6 !������ �	 �	�4�5�.��� 27

41
≈ 0, 66 ��� �	��� %��� ����	����� e−Ru �


#-� � ��� u → ∞
Ψ(u) =

27

41
e−0,25u + o(e−Ru). ����
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